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L F Tl F C 3 M, flessione da carichi assegnati
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C 3 Fb C 3 M, flessione da iperstatica X=1
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Sviluppi di calcolo iperstatica
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t=1.8 Dt=1.8
EECEC(C(CCF————— =]

A= 164. mm’

J, = 99307. mm*

J,= 8432. mm*

J, = 1353 mm*

X, = -4.534 mm

Xy = 13.98 mm

T,= 1070.N

M, = -706200. Nmm

u, =-13.98 mm

vV, = -28. mm

o, = -Mv/J, = -199.1 N/mm’
X, = 12.mm

u, =-1.976 mm

vV, = -28. mm

o, = -Mv/J, = -199.1 N/mm’

T, = Ty*T,, = 69.96 N/mm®
1,=TS/J,= 5.43 N/mm’
1, = Tx t/J, = 64.53 N/mm’
t.= 1926. mm

0, = Vo*+31° = 233.1 N/mm’
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